## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Re-appropriating Funds for the Design and Construction of the Westside Health Clinic)

RESOLUTION NO 2000-107

		RESOLUTION NO. <u>2000-107</u>				
1	WHEREAS,	the Tohono O'odham Legislative Council by Resolution No. 99-082 did accept and				
2		support the proposed construction of the Westside Health Center through the				
3		formal submission of the Indian Health Services (I.H.S) Planning Documents which				
4		were jointly developed by the I.H.S. Tucson Area and the Tohono O'odham Health				
5		Facilities Planning Task Force; and				
6	WHEREAS,	the Tohono O'odham Legislative Council by Resolution No. 99-444 did: (1)				
7		appropriate funds for the design and construction (including Project				
8		Administration) of the Westside Health Clinic in the amount of \$11,233,514, (2)				
9		provided a six month operating budget from February 1, 2000 thru September 31,				
10		2000, (3) directed the Nation's Treasurer and Chairman of the Nation to authorize				
11		transfer of the appropriated amount in to a new account which would earn interest				
12		in accordance with the Nation's established investment policies, (4) investigate the				
13		placement of the Bond Obligation; and				
14	WHEREAS,	the project administration funding for the remainder of FY 2000 and total year $2001$				
15		(based on FY 2000 salaries-with actual figures to be presented at budget approval				
16		for FY 2001) is designated in the amount of \$251,526.80; and				
17	WHEREAS,	construction, construction contingency and professional services has been				
18		budgeted for \$10,981,987.20 for pre-design, design, site infrastructure, construction				
19		and other special engineering studies not foreseen.				
20	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby re-				
21		authorizes resolution $\#99\text{-}444$ and approves the appropriated $\$11,233,514.00$ for the				
22		Westside Health Clinic for the Tohono O'odham Nation with the presented budgets				
23		for the remainder of FY 2000 and estimated budget for FY 2001.				
24 25	The foregoin	ng Resolution was passed by the Tohono O'odham Legislative Council on the <u>08TH.</u>				
26 26		$\frac{1}{2}$ He foliation was passed by the foliation of outland registrative council on the $\frac{1}{2}$ $\frac{1}$				
27	AGAINST; -0- NOT VOTING; and [05] ABSENT, pursuant to the powers vested in the Council by					
28	Section 1 (f) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the					
29 30	Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant					
31	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).					
31	10, 1332 (20 Stat. 302).					

31 **32** 

	RESOLUTION NO. <u>2000-107</u> (Re-appropriating Funds for the Design Page 2 of 3	and Construction of the Westside Health Clinic)
1		TOHONO O'ODHAM LEGISLATIVE COUNCIL
2		
3		$\mathcal{A}$
4		New 12
5		Dennis Ramon, Legislative Chairman
6		th m
7		10th day of March, 20 00
8		
9		
10	ATTEST:	
11		
12	X / Y	
13	free man	
14	Julianna Saraficio, Acting Legislative S	-
15 16	18 day of March	20 00
17	uay or,	20
18		
19	Said Resolution was submitted for a	approval to the office of the Chairman of the Tohono
20	O'Odham Nation on the 10th day of	approval to the office of the Chairman of the Tohono of <u>March</u> , 20 <u>00</u> at <u>3:29</u> o'clock
21		section 5 of Article VII of the Constitution and will become
22		failure to either approve or disapprove it within 48 hours
23	of submittal.	
24		
25		TOHONO O'ODHAM LEGISLATIVE COUNCIL
26		TOHONO O'ODHAM LEGISLATIVE COUNCIL
26 27		TOHONO O'ODHAM LEGISLATIVE COUNCIL
26 27 28		De R
26 27 28 29	·	TOHONO O'ODHAM LEGISLATIVE COUNCIL  Dennis Ramon, Legislative Chairman
26 27 28 29 30		De R
26 27 28 29 30 31	-	De R
26 27 28 29 30 31 32	·	De R
26 27 28 29 30 31 32 33	-	Dennis Ramon, Legislative Chairman
26 27 28 29 30 31 32 33 34	i√1 APPROVED	Dennis Ramon, Legislative Chairman
26 27 28 29 30 31 32 33 34 35	[X] APPROVED	Dennis Ramon, Legislative Chairman  on the 13th day of Manda, 20 00
26 27 28 29 30 31 32 33 34 35 36	[∕] APPROVED	Dennis Ramon, Legislative Chairman  on the 13th day of Manda, 20 00
26 27 28 29 30 31 32 33 34 35	<del>/</del> \^-	Dennis Ramon, Legislative Chairman
26 27 28 29 30 31 32 33 34 35 36 37	<del>/</del> \^-	Dennis Ramon, Legislative Chairman  on the 13th day of Manda, 20 00
26 27 28 29 30 31 32 33 34 35 36 37 38	<del>/</del> \^-	Dennis Ramon, Legislative Chairman  on the 13th day of Manda, 20 00
26 27 28 29 30 31 32 33 34 35 36 37 38 39	<del>/</del> \^-	Dennis Ramon, Legislative Chairman  on the 13th day of 11mal, 20 00  at 3/17 o'clock, 1.M.  Shared Beauce EDWARD D. MANUEL, Chairman
26 27 28 29 30 31 32 33 34 35 36 37 38 39 40	<del>/</del> \^-	Dennis Ramon, Legislative Chairman  on the 13th day of 11mal , 20 00  at 3/17 o'clock, f.M.  Sharad Manuel

	~ 4 7 .4	<u> </u>	he <u>/</u> day of		
**					
Mary	h	.20 00	at	ck. Am	
Mu	h fa	uf .	<u></u>		
uHanna Saraf	icio, Acting L	egislative Secr	etary		

ACTION: RE-APPROPRIATING FUNDS FOR THE DESIGN AND CONSTRUCTION OF THE WESTSIDE HEALTH CLINIC

MOVED: COUNCILWOMAN MARY ANN ANTONE

SECOND: COUNCILWOMAN FERN SALCIDO

DATE: MARCH 08, 2000

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	x			
	2. RITA MARTINEZ (Nicholas Jose)	85.9	х			х
SELLS 372.7	1. DENNIS E. JOSE	186.35	X			
	2. EVELYN JUAN ( )	186.35	X			
SCHUK TOAK	1. MARY FLORES	66.7	x			
133.4	2. AMBROSE ENCINAS	66.7	х			x
SAN XAVIER	1. TONY BURRELL	82.95	X			
165.9	2. DENNIS RAMON	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	X			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			X
GU ACHI	CAMILLUS LOPEZ     (Louis Johnson)	104.8	x			
209.6	2. ALEX J. RAMON	104.8	x			
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	X			X
156.8	2. JOHNSON JOSE	78.4	x			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	X			
128.1	2. GLORIA RAMIREZ ( )	64.05	X			
GU VO	1. FERN SALCIDO	80.0	Х			
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0	х			
HICKIWAN	1. ALEX JOSE (Shirley Santos)	79.05	X			
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	х			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	X			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			x
T	OTAL	2,165.5	2165.5	-0-	-0-	[05]

<sup>\*\*</sup>PASSED VOTES